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Question 1

Which of the options is the next shape in the sequence?

Correct answer: A

@@ 7 ©

Which of the following replaces the question mark in the sequence?

A B C D

@ ©

Question 2
Which of the options should replace the question mark (?) to complete the sequence?
Correct answer: D
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A B C D
Question 3
Which of the options is the next shape in the sequence?
Correct answer: A
C D
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Question 4

Which of the options is the next shape in the sequence?
Correct answer: A
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Question 6

Which of the options is the next shape in the sequence?
Correct answer: D
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Which of the following replaces the question mark in the sequence?
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Question 7
Which of the options should replace the question mark (?) to complete the sequence?
Correct answer: B




Question 8

Which of the options is the next shape in the sequence?
Correct answer: C
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Question 9
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Which of the options is the next shape in the sequence?
Correct answer: A




Question 10
Which of the options is the next shape in the sequence?

Correct answer: C

Question 11
Which of the options is the next shape in the sequence?

Correct answer: E



Question 13
Which of the options is the next shape in the sequence?

Correct answer: A

Question 14
Which of the options is the next shape in the sequence?

Correct answer: D



Question 15
Which of the options is the next shape in the sequence?

Correct answer: C

Question 16

Which of the options is the next shape in the sequence?
Correct answer: A



Question 7

Which of the options is the next shape in the sequence?
Correct answer: A



